e R N R RER | L. HE
7 ‘E‘ZE, e /\’:IL N >‘E7k < % ;k < EJIL: \ly‘;;k < e At * <
HiH [HEFHE RGN | T ARERME (RS AR T4 A (keal)
g [AEA 6.5 3 19 2.9 888
SANHE % Tem e 6.5 3. P 2.7 818.5
B I EETT 6.5 33 1.9 27 871.5
BESRIBA P g 6.5 33 3 22 797
& B 6.6 2.8 1.8 3.5 832.5
5 EHI=
B lmon BV o 6.7 28 1.8 3.4 849
SRR 6.5 34 1.7 32 947.5
1=
#AvY
L SR T 6.6 3.6 1.8 3.8 876
) 6.5 2.8 1.9 26 913.5
AT -
e B eam 6.7 32 1.8 39 887.9
) s | N JHAE R EL | B
i ALK el A1k z'z%‘ﬁ- -
=y PEEIEE | TR BN |FEEE BRETE | (keal)
e 7 3 05 15l 505
SR 6 2 0.8 1| 595
R 45 2 0.8 1| 490
JEHER S5 5.5 2 0.5 3.5 665
g | LA 5.5 2 0.5 35 675
%.? JEEE 5.5 2 0.8 3.5 7125
E‘ LS AR 5.5 2.5 1 28] 736
PR 4 25 1 28] 631
I A% S FERE 6 2 0.8 3.5 7415
S DB 6 3 0.8 43| 903.5
[y 3.8 15 0.5 3| 506
JEZ A 4 2 0.5 15| 470
R RERT 4 2 0.5 15 480
FEHEEN R 6.2 3 0.5 59/ 952
| — o |y THEEAER | o | BAE
BEEHEE AL 4 M (FESEs = ok |
FREERAES SEGEENE | SRERME B ERT AL (keal)
o BRI EEN A + 405 2.6 15 0.2 23] 05[] s31s
= ERLEFRIEEER 4058 1.8 2 0.2 2 05| 477
= [EE EREARRE AL 3.2 2.5 0.2 23] 05[] 6435
= BB BEIS 4L 33 3 0.2 3 657
EES FIARUMYIE) +40E 4 3 0.6 1.2 665
EES F KRR IBE) +40% 6 4.5 0.9 18 959.5
FE6.T5 55 T+ B+ AL 36 0 0 2 418
- — o | BB M| O | ERE|_ AR
i P =[5 sy 2E | 2 s 5] o o
H A HEhgEH EEd it A b A R B T B2 i (keal)
AL v o e - 6.5 3 19 2.9 888
! G | mETE | ewER | S
3AE B e Y e Y 65 32 2 27 818.5
Sj e el SwEeE | wms | eER | SO 22 i; iz ;; 87719'3
X
2 . I 66] 28] 18 3.5 832.5
L | EDE EluE i 57
@ |3H198 o N PRI | S 67 28] 18 34 849
65] 34 17 30 947.5
RWE | wEEem | ST | SEE
3A20H i " " 66| 36| 18 338 876
] — 6s5] 28] 19 26 913.5
e | EETE | BWETE | SEn
3H21LH " ‘ R I 67 32| 18 39 887.9

B AR S AEERENGER | 28)

ERAEARE




